Q.P. Code : 011496
[Time: 2 Hours] [ Marks: 60
Please check whether you have got the right question paper.
N.B: 1) All questions are compulsory
2) Each question carries 15 marks.
3) Draw neat diagrams wherever necessary.
Answer any two:-
1. Discuss segmented labour markets.
2. Explain any two theories of informal credit markets.
3. Discuss the economic theory of fertility.
Write notes on any two : -
1. Interrelation between agriculture and industry.
2. Exchange Rate Management
3. Financial repression
Answer any two :-
1. Discuss limits to growth model.
2. Explain global warming and climate change.
3. Write a note on rural urban migration.
Answer any two :-
1. Discuss mahalnobis model.
2. Briefly explain stabilisation and structural adjustment policy.
3. Explain W.T.O and developing countries.
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